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Performance notes

The ensemble is to be divided into two subsets,
data={Alto Sax, Guitar, Harpsichord} & hyperobject={Clarinet, Trombone, Cello}.

These subsets are to be displaced either side of the stage.
data is to be mic’d in any appropriate way to trigger the live visuals.

A timer is recommended for conductor and separately for hyperobject.

Clarinet

This technique is a type of tremolo by pressing and
releasing the bottom three holes while sustaining
the note. The curve indicates to fade in and out the
speed of the bisbigliando.
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Dynamics should also be faded in and out on each

P — | ﬁ note.

Trombone & Cello

The piece should be as legato as possible.
Trombone: rests are most suitable when the clarinet is playing, otherwise breathing is open.
Cello: retaking the bow is open to the interpretation of the player.
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